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1. Answer the following as directed : 1x8=8

(@) The total expenditure (TE) does not °
change with change in price, when
i) Ed<1
(i) Ed > 1
(i) Ed = 1

(iv) None of the above

( Choose the correct option )
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(b)

()

(@)

(e)
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(2)

How does the imposi_tion of a unit tax
affect the supply curve of a firm?

Find .cor.lsumer"s marginal rate of
:ltlbstltlltutl_on .(IYIRS) of food for clothing
2t € equilibrium position, when

f=10and p,= 5

The quantity demanded of a Giffen
gc.zod varies ____ with price.
(i) indirectly .

(i) directly

(iii) independenﬂy

(iv) All of the above

( Fill in the blank )
A firm wij be i

m equilibri .
NS Of a factor gomu CEAARE

Tatio of factoy p

0 Less top rices,
(i) more than
(@) equal

(i) independen;
(Fill in the blank )

( Continued J

(9

)

ra
(3)

Find the marginal product of capital
(MP,.) when marginal product of labour
is 5 and marginal rate of technical
substitution of labour for capital is 2.

What does the area under the
marginal cost (MC) curve show?
f) TFC
(i) TVC
(i) AFC
(iv) AVC

( Choose the correct option )
Find the total fixed cost (TFC) from the
total cost function

TC =100 +50Q -12Q2 + Q3,

where TC is total cost and Q is level of
output.

2. Write short notes on any four of the
following (within 150 words each) : 4x4=16

. (@)
(b)

8P/127

Scope of microeconomics

Relationship between marginal utility

and- total utility with the help of
schedule and diagram

( Turn Over )



(4)

(¢) Derivation of Engel curve from income
.. consumption: curve for necessaries
(d)‘ Ridge lihes '

(e) Envelope curve
Answer the fbllAdwingAquesti s
e f Ing questio
each) : = - s ('?ithin S00 words

3. ()) Explain with t,
. € help of gj
effects of the fol1g agrams, the

demand of 5 commodit} ; ¢S on the

N of
- consumjer - .-

income

(b)

Units due g
Price, Célc:;: 20 percent fall in jts
i Gemang o ¢ 1 Poroentage ise
8 percen; Y If its price falls by

P/127

4+4+4=12

6+6=12 '

( Cohﬁnued) |

i

(b)

!5. (a)

(b)

P/127

equilibrium?

(S5)

Deduce the inverse relationship
between the quantity demanded of a
commodity and its price in terms of

' Marshallian analysis. How would you

explain, in terms of this analysis, the
phenomenon that a fall in price of salt
does not make a consumer buy more
of it? 843=11

Explain consumer’s  equilibrium
condition with the help of indifference
curve approach. How will a change in

consumer’s = income  affect his

8+3=11

Using indifference curve analysis,
show how price effect of a commodity

is decomposed into income effect and
substitution effect.

11
Or
What is income consumption curve?
Draw indifference Curve diagrams
( Turn Over )



(6) (7)

’ ‘.Sh°ng the income consumption curve -
m the fOllowing cases : :

Or

(b) Explain with illustrations the
following concepts of costs :
(i) Average Fixed Cost (AFC)

(i) Both x and Y are normal goods.

(&) GOOd X is normal good and good ¥ |
1s inferior good. '

(i) Average Variable Cost (AVC)
(iii) Average Total Cost (ATC)
(iv) Marginal Cost (MCQ)

Why does ATC curve reach its lowest
point after AVC curve? 242+2+2+3=11

' (uz) Go?‘%" is inferior good and good yis
- -normal good, 2+3+3+3°
. g prod:;lar‘e the three stages of short-run

. ction function? Why does it not
i s: any\ €conomic sense to product
T stage I or stage 117 6+57
or

ant and isocost. Show

(b) Define isoqu

7. (@ Whet is int,

€Xpands jtg 80:1 the firm when it

€ of production.

+9%
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